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General guidance to Additional Assessment Materials for use in 2021
Context
· Additional Assessment Materials are being produced for GCSE, AS and A levels (with the exception of Art and Design).
· The Additional Assessment materials presented in this booklet are an optional part of the range of evidence you may use when deciding on a candidate’s grade.
· 2021 Additional Assessment Materials have been drawn from previous examination materials, namely past papers. 
· Additional Assessment Materials have come from past papers both published (those materials available publicly) and unpublished (those currently under padlock to our centres) presented in a different format to allow you to adapt them to use with your candidates.
Purpose
· The purpose of this resource to provide qualification-specific sets/groups of questions covering the knowledge, skills and understanding relevant to this Pearson qualification. 
· This document should be used in conjunction with the mapping guidance which will map content and/or skills covered within each set of questions. The mapping guidance will also highlight where the question originally came from to allow you to access further support materials (mark schemes, examiner reports).
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· Specific guidance relating to this selection of material for this subject is detailed below. 
· These materials are only intended to support the summer 2021 series. 







[image: ]

1. (a) What is meant by fixed costs?[image: ]							(2)
[bookmark: _Hlk66994559]________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________






(b) Using the data in Extract B, and assuming a sales volume of 20 schools in 2015, calculate Backpack Ltd’s likely profit. You are advised to show your working.										(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





2. [image: ][image: ](a) What is meant by sales revenue?						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________






(b) What is meant by total costs?							(2)
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________

(c) Using the data in Extract B, calculate the total variance in profit for The Posh Pasty Company’s steak and stout pasty for July 2015. You are advised to show your working.										(4)
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________



[image: ]

[image: ]
3. (a) Using the data in Extract B, calculate the percentage increase in the world sugar price from September 2015 to March 2016. You are advised to show your working.										(4)
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
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(b) Using Figure 1, calculate the contribution per box of Kendal Mint Cake. You are advised to show your working.							(4)
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________

(c) Assess two likely limitations to JE Wilson & Sons Ltd of using break-even analysis as a planning tool.								(8)
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
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4. What is meant by margin of safety?							(2)
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
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5. Assess two difficulties CMR Surgical Ltd may face in producing sales forecasts for 2050.										(8)
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________
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6. To reduce the break-even point on its products, Matt & Nat could either stop using ethically sourced raw materials or use a skimming pricing strategy.

Evaluate these two options and recommend which option Matt & Nat should use to reduce the break-even point on its products.					(20)
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Answer

Mark

Knowledge 2
Knowledge/understanding: up to 2 marks for, e.g.

« Costs that do not change (1) when output/sales changes. (1)

NB: If candidates only provide examples of fixed costs award up
to 1 mark, e.g. rent, salaries etc.

)





image2a.png
Level Mark | Descriptor
0 A completely inaccurate response.
Level1 |12 Isolated elements of knowledge and understanding - recall based.
Weak or no relevant application to business examples.
Generic assertions may be presented.
Level2 |35 ‘Accurate knowledge and understanding.
Applied accurately to the business and ts context.
Chains of reasoning are presented, showing cause(s) and/or effect(s)
but may be assertions or incomplete.
An attempt at an assessment is presented, that is unbalanced and
unlikely to show the significance of competing arguments.
Level3 |68

Accurate and thorough knowledge and understanding, supported
by relevant and effective use of the business behaviour/context.
Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using quantitative
and/or qualitative information, and shows an awareness of
competing arguments/factors.
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Answer

Mark

Knowledge 2
Knowledge/understanding: up to 2 marks for, e.g.

« The difference between the current or planned level of
output/sales (1) and the break-even level of output (1).

NB: If candidates provide the correct formula (current or planned
output - break-even level of output) award 2 marks.

2)
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Answer

Mark

Knowledge 1, Apj

Quantitative skills assessed:
QS5: calculate cost, revenue, profit and break-even.

Knowledge: 1 mark for identifying either the profit variance
formula or the profit formula.

« Actual profit - budgeted profit
« Sales revenue - total costs

Application: up to 3 marks

« Calculate the variance in revenue for steak and stout pasties

14370 - £12 250

2 120 favourable

« Calculate the variance in total costs for steak and stout
pasties

5890 - £4 210

1 680 adverse/unfavourable

« Calculate the variance in profit for steak and stout pasties

2120 - £1 680

440 favourable

NB: if the answer given is simply '£440’ or ‘+£440’ award 4
marks.

(4)
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Extract B
Selected information about Backpack Ltd's homework app in 2015
Fixed costs per year = £10 000
Contribution per school = £1 800
Selling price per school = £2 000
Variable costs per school = £200
(Source: interview with main shareholder in Backpack Ltd 18/4/15)
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

« Break-even is the level of output where the total revenue is
equal to the total cost.

« JE Wilson & Sons Ltd produce more than one product line,
therefore there will be numerous permutations of break-
even points, reducing the usefulness of break-even analysis.

« Break-even analysis is unrealistic and has limited use to JE
Wilson & Sons Ltd because of the assumptions made e.g.
standard selling price of a box of Kendal Mint Cake, a
constant average variable cost of £2 and that the company
can sell all of the output that it produces.

Potential counterbalance:

« Break-even analysis will provide a target of how many
Kendal Mint Cakes the company need to sell in a year.

« Break-even analysis provides the company with the ability to
ask ‘what if?" questions to discover what will happen to its
profitability following the move to the new factory and the
change in its fixed costs.

« Break-even analysis provides the company with a simple
planning tool which enables it to have a target level of sales
of Kendal Mint Cakes which it must reach in order to be
profitable.

(8)
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Answer

Mark

Knowledge 1, Application 3

Quantitative skills assessed:

QS2: calculate, use and understand percentages and percentage
changes.

QSa: interpret index numbers.

Knowledge: 1 mark for identifying the % change formula.
« (March 2016 figure - September 2015 figure)/September
2015 figure x 100

Application: up to 3 marks
« Calculate change in index number series = 117-90 = 27
« Calculate % change = (27/90) x 100
« Calculate answer = 30%

NB: If the only answer given is 30% or 30 award 4 marks.

(4)
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

« The product s new, no other firm has produced a robot that
assists with keyhole surgery.

« If CMR Surgical Ltd are successful with their Versius robot, it could
encourage more competition to enter the market.

« CMR Surgical Ltd are predicting sales in 2050 of £20bn. That time

period is so far into the future that the sales forecast is unrealistic.

Potential counterbalance:

« The Versius robot may significantly increase the productivity of
surgeons. This means that it is highly likely that sales may be high
and could reach £20 billion.

« CMR Surgical Ltd have first mover advantage in the market.
Therefore, even if new competition enters the market CMR
Surgical Ltd's robots should already have an advantage with
existing hospitals and doctors. This may make sales forecasting
more predictable.

« CMR Surgical Ltd may view that with further advancements in
technology, their robots can be adapted to perform other surgical
techniques, allowing them to predict a very high sales figure of
£20 bil

(8)
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Answer

Mark

Knowledge 1, Application 3

Quantitative skills assessed:
QSS: calculate cost, revenue and break-even.

Knowledge: 1 mark for identifying the profit formula.
« Total Revenue - Total Costs

Application: up to 3 marks
« Calculate total revenue = £2 000 x 20 schools = £40 000
« Calculate total costs = £10 000 + (£200 x 20 schools)

= £14.000
« Calculate profit £40 000 - £14 000 = £26 000

NB: if the answer given is £26 000 award 4 marks.

(4)
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-5

Accurate knowledge and understanding.
Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced,
and unlikely to show the significance of competing arguments.

Level 3

6-8

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using
quantitative and/or qualitative information, and shows an
awareness of competing arguments/factors. Leading to a
supported judgement.
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Answer

Mark

Knowledge 1, Application 3

Quantitative skills assessed:

QS5: calculate cost, revenue and break-even.

QS9: interpret, apply and analyse information in written,
graphical and numerical forms.

Knowledge: 1 mark for identifying the contribution per unit
formula.
« Selling price - variable cost per unit

Application: up to 3 marks

« Calculate selling price using TR line .g. at 5,000 boxes TR is
£50 000 therefore £50 000/5,000 = £10

« Calculate variable cost per unit using TC line e.g. at 5,000
boxes TC is £50 000 & FC is £40 000 so TVC is £10 000,
therefore £10 000/5,000 = £2

« Contribution per box of Kendal Mint Cake = £10 - £2 = £8

NB: If the only answer given is £8 award 4 marks.

There are a variety routes that will allow the candidate to reach
the correct answer. Please award answers that show a similar
logical route to the one above.

)
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Potential recommendation:

« If Matt & Nat stop using ethically sourced raw materials, it may
reduce the variable costs of production, but considering i already
uses waste products, the falin variable costs may be limited.
Thus, the break-even point may fall by an insignificant amount,
but with significant risks that the brand may be damaged which
would make the lower break-even point unobtainable.

« Using a skimming pricing policy i likely to be the most suitable
option, since the PED for its bags s likely to be low. This s
because Matt & Nat's products have a celebrity following.
Therefore, his i likely to be the least risky option in reducing.

Matt & Nats break-even point.
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Answer Mark

Knowledge 2

Knowledge/understanding: up to 2 marks for, e.g.
« Fixed costs plus variable costs. @)
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Answer Mark

Knowledge 2

Knowledge/understanding: up to 2 marks for, e.g.
« Price multiplied by quantity sold.

NB: If candidates state ‘income from sales’ award 2 marks. ()
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Indicative content.

Knowledge 4, Application 4, Analysis 6, Evaluation &
Stop using ethically sourced materials

 Switching to cheaper suppliers that do not ethically source their
raw materials should reduce the variable costs of each handbag.
Therefore, contribution per bag may increase allowing for a lower
break-even point.

« The materials used, such as plastic tyres and boitles, do not have
to be ethically sourced and consumers may not understand that
an ethically sourced recycled tyre i different to any other type of
recycled tyre. Therefore, this could reduce the break-even point
with a limited impact on sales.

 Ethical sourcing may be the primary source of differeniation for
the company and the ‘Matt & Nat brand name means Material
and"Nature'. To switch to unethical suppliers may damage the USP.
of the company. Thus, although contribution per bag may be
higher, sales may fall significantly.

 Ethical sourcing could be the main source of added value.
Therefore, by not using ethically sourced raw material, the
average variable cost may fal by less than the selling price,
resulting in 2 smaller contribution per wallet. Therefore, the
break-even point may actually rise, rather than fal.

Skimming pricing strategy

+ Using a skimming pricing strategy will increase contribution per
"handbag, Therefore, fixed costs willbe paid off faster, reducing.
the break-even point.

« The price elasticit of demand for the Beriin handbag may be low
thisis because the brand has a luxury image since it sels bags to
Natalie Portman. Therefore, raising prices may increase revenue
due to a relatively small reduction in sales. This should reduce the.
break-even poit.

« Using a skimming pricing strategy may not appeal to some.
consumers since the products are not made out of luxury raw
‘materials. AS a result, there may come a point where high-income
consumers would rather have a Prada bag instead. Therefore, the.
lower break-even point cannot be reached, due to sales being low.

« The increase in price could result in Matt & Nat's PED changing.
since their products now become a larger percentage of a
consumer's income. Therefore, any increase in the price of its
walets may cause a significant fal i sales. This may reduce
the company’ abilfty to reach its new, lower break-even point.
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Descriptor

“Acompletely inaccurate response.

Tevel T

solated elements of knowledge and understanding
‘Weak or no relevant application of business examples.

An argument may be attempted, but il be generic and fal to
connect causes andor consequences.

Level2

Bl

Elements of knowledge and understanding, which are applied to
the business example.

Arguments and chains of reasoning are presented, but
connections between causes and/or consequences are
incomplete.

Actempts to address the question.

A comparison or judgement may be attempted, but it will ot
Successfully show an awareness of the key features of business
behaviour or business sitation.

Tevels

“Accurate knowledge and understanding, suppored throughout By
relevant and effective use of the business behaviour/context.

Uses developed chains of reasoning, so that causes andlor
consequences are complete, showing an understanding of the.
question.

Arguments are developed.

Quantitative and/or qualitative information i introduced in an
attempt to support judgements,  partial awareness of the validity
and/or significance of competing arguments and may lead o a
condlusion.

Teveld

520

‘Accurate and thorough knowledge and Understanding, supported
throughout by relevant and effective use of the business
behaviour/context.

Uses well-developed and logical, coherent chains of reasoning,
Showing a range of causefs) and/or effect(s). Arguments are fully
developed.

Quantitative and/or qualitative information is/are used well to
Support judgements.

Afull awareness of the validity and significance of competing
arguments/factors, leading to balanced comparisons, judgements
and an effective conclusion that proposes a solution and/or
recommendations.
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Extract A
Backpack: Student sets up online homework planner business

Backpack Ltd is a small start-up company set-up in Plymouth in 2012. Alistair started the
company after leaving school when he was 18 and he is the main shareholder. Alistair
chose to set-up the business as a private limited company to gain limited liability.

Backpack Ltd has developed an online homework planning application, or ‘app, which
is suitable to run on i0S and Android mobile phones. The app replaces the traditional
paper-based homework diary and allows teachers to set and track homework online.

In order to start his company, Alistair needed to raise £20 000 to develop and bring the
app to market. Alistair approached his local bank for a loan, but his business plan failed
to impress them and he was forced to raise venture capital instead. This required Alistair
to provide outside investors with 65% of the issued shares.

(Source: adapted from http://www.backpack ac)
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Extract B
Selected information from The Posh Pasty Company’s budget, July 2015

Steak and stout pasty
()
‘ Budgeted sales revenue ‘ 12250 ‘
‘ Actual sales revenue ‘ 14370 ‘
‘ Budgeted total costs ‘ 4210 ‘
‘ Actual total costs ‘ 5890 ‘

(Source: interview with James Strawbridge 7/1/16)
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Extract A
The Posh Pasty Company

The Posh Pasty Company was set up in 2013 in the popular seaside town of Fowey by TV
chef James Strawbridge and his wife Holly. Capital was raised through the crowd funding
website www.crowdfunder.co.uk.This enabled them to rent and equip a small factory.
The Posh Pasty Company uses the highest quality local ingredients to manufacture
several flavours of pasty. The pasties are sold and delivered to delicatessens and cafes
across southern England.

Batch production is used in the factory to manufacture the pasties. In 2015, capacity
utilisation was 92%. James and Holly regularly review the financial performance of each
variety of pasty, by examining historical figures for sales revenue and total cost.

This enables them to perform a variance analysis.

(Source: adapted from http://poshpasty.co/about-us/who-we-are/)
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ExtractA
Kendal Mint Cake manufacturer to close

Cake manufacturer JE Wilson & Sons Ltd is to close after more than a century of
production. The company makes several products, but is most famous for making Kendal
Mint Cake, a sugar-based confectionery item flavoured with peppermint.

JE Wilson & Sons Ltd's move to a new purpose-built factory in 2013, designed to improve
efficiency, actually resulted in poor capacity utilisation. Trends in the wider confectionery
market, away from products with a high sugar content, have led to declining sales of
Kendal Mint Cake. This, together with the rise in the price of raw materials such as sugar,
led to the company making large losses. The move to the new factory also created
serious cash-flow problems for the company.

JE Wilson & Sons Ltd failed in February 2016.

(Source: adapted from © Telegraph Media Group Limited 2017)
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Extract B
World sugar price rises

Index of world sugar price March 2015 - March 2016 (March 2015 = 100)
120 T

117

15

110

105

100

Index

95 +

(Source: drawn using data from http/wwwimf.org/external/
‘npires/commod/External_Dataxls)




image8.png
JE Wilson & Sons Ltd produced a break-even chart to show the profitability of the
Kendal Mint Cake production line in its new factory.

This is shown in Figure 1 below.

—B—Total Revenue  —@—Total Fixed Costs —+— Total Costs
£90 000

g
g

£70 000

Monthly revenues and costs
8258
88588

£20 000

£10000

T T T T
o 1,000 2,000 3,000 4,000 5,000 6,000 7,000 8,000
Monthly output of boxes of Kendal Mint Cake

Figure 1
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ExtractB

Selected information from Fevertree Drinks plc’s Statement of Comprehensive
Income (2016)

s
Revenue ‘ 102237354
Cost of sales ‘ (45815 263)
Other operating expenses ‘ (22049714)
Interest ‘ (70497)
Profit for the year (net profit) ‘ 34301880

(Source: adapted from http:/ffevertree1.d3r-cdn.comy/pdfs/
original/3094-fevertree-ar-2017-web-ready.pdf)
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Extract A
Fevertree Drinks plc: A British success story

Fevertree sells 14 different premium drinks. Its most popular products are tonic water
and ginger ale. Each drink is made from the finest ingredients, such s quinine and
ginger, both of which are imported. In 2016, 44.7% of Fevertrees sales were made in the
UK with the remainder of sales from exports. The export market has grown by more than
40%since 2015.

Fevertree does not own any factories; it uses independent bottling and canning factories
in the UK to produce its drinks. Fevertree arrange for the ingredients and packaging
materials to arrive before the flow production process starts. Independent factories are
keen to accept Fevertree’s work since it improves their own margin of safety.

In 2014, Fevertree’s shares were floated on the stock market at £1.34 per share. This raised
£4 million of extra capital for the company. Since then, Fevertree’s share price has risen
by 1,646% to £23.40.

(Source: adapted from http/www.cityam.com/1415066650/fever-tree-shrugs-
‘market-woe-bigger-expected-float and http/fevertree1 d3r-cdn.
comlpdfs/original/3094-fevertree-ar-2017-web-ready.pdf)
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ExtractB
Selected information from CMR Surgical Ltd's Statement of Financial Position (2017)

[
Non-current assets ‘ 10 637 000
Current assets ‘ 16 712 000
Current liabilities | @es2000
Non-current liabilties | 10207000
Inventory ‘ 584000

(Source adapted from: https:/beta.companieshouse.gov.uk/company/ 08863657 filing-history)
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Extract A

Cambridge Medical Robotics (CMR) Surgical Ltd secures funding deal

CMR Surgical Ltd is based in Cambridge, UK. In 2018, the company raised £75 million in
share capital to provide it with enough liquidity to complete the development and launch of
its new product - a robot called Versius.

CMR Surgical Ltd believes that Versius will change keyhole surgery forever. The robot helps
a surgeon use less physical effort to perform keyhole surgery on a patient in hospital.
Traditional keyhole surgery strains a surgeon's arms and hands. This results in surgeons
having to rest before they can perform another operation. CMR Surgical Ltd believes that
Versius will allow the productivity of surgeons to significantly improve.

CMR Surgical Ltd forecasts that once the Versius robot is ready for market, it can generate
£4billion in sales per year, rising to £20 billion by 2050. CMR Surgical Ltd believes its
product is unique.




image13.png
Extract E

Matt & Nat launch its new ‘Berlin’ bag
Matt &Nat is a Canadian company that sells bags, wallets and shoes made from a
combination of ethically sourced, recycled materials such as bicycle tyres and plastic bottles.
The company’s brand comes from the combination of the words ‘Material’ and ‘Nature’
Matt & Nat refuse to use leather from animals in the production of its products, all of which
are vegan and vegetarian friendly.

‘The ‘Berlin' bag is made from 100% recycled plastic and priced at £110. Matt & Nat's
products are popular with celebrities, such as film star Natalie Portman. Unlike other bag
manufacturers, which use leather, Matt & Nat has not had any negative publicity. The
company’s products can be found in retailers, such as ASOS, John Lewis and Topshop.

(Source adapted from: http://www.viva.co.nz/article/fashion/matt-and-nat-story/)




